£
& O N (93
% %% "a > ﬁ CJIOJKEHME ApOo0eH (TOT ke 3HaMEHATEIIb)

Nwms: Jara: Orenka:

AN =
N W

+
ST )
I

W | =

0| O
_|_
oo | W
I

+
O | —

O | W

[\
W | =—

W | =—

oI\
_|_
oo | —

I \S)
_|_
[E—

N

o0 | i
_|_
oo | —

+
O | —

O |

O
+
O
I

www.snowmath.com


https://www.snowmath.com

£l
o) o (%)
% %% p clI0KeHHe po0Oeit (TOT e 3HAMEHATElb)

Nwms: Jlara: Ouenka: ___
(L3342
6 6 3 3
1,2,

3 3
6 3 9 1
—+Z="=1=
8 8 8 8
3 1 4
4=
9 9 9
I 1 8
4+ =_=9C
23 3 3 2
2 1 3
4+ ==
8 8 8
2 I 7 3
Stlo=2=12
4 4 4 4
5 1 3
4+ ==
8 8 4
5 1 2
4+ ==
9 9 3
7 7 14 5
__|__:__:1_
9 9 9 9

www.snowmath.com


https://www.snowmath.com

